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properly printed; your Test booklet is not damaged’in any manner and contains 150
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purpose.

4. | Make sure to fill the correct Test booklet code on Side 2 of the OMR Answer Sheet. If
the space for the Booklet Code is left blank or more than one booklet code is indicated
therein, dt'wilhbe deemed to be an incorrect booklet code & Answer Sheet will not be
evaluated. 4fhe hcandidate himself/herself will be solely responsible for all the
consequences arising out of any error or omission in writing the test booklet code.

550 This Test Booklet consists of 24 pages containing 150 questions. Against each
guestionafour alternative choices (1), (2), (3), (4) are given, out of which one is correct.
Indieate your choice of answer by darkening the suitable circle with BLACK/BLUE pen
in the OMR Answer Sheet supplied to you separately. Use of Pencil is strictly
prohibited. More than one answer indicated against a question will be deemed as
incorrect response.

6. | The maximum marks are 150. Each question carries one mark. There will be no
negative marking. The total time allocated is 90 minutes.

7. | Do not fold or make any stray marks on the OMR Answer Sheet. Any stray mark or
smudge on the OMR Answer Sheet may be taken as wrong answer. Any damage to
OMR Answer Sheet may result in disqualification of the candidate.

8. | On completion of the test, candidate must hand over the Test Booklet and OMR
Answer Sheet to the invigilator on duty in the room/hall.

9. | Use of Mobile phones and calculators etc. are not allowed.

10. | Keep all your belongings outside the Examination hall. Do not retain any paper
except the ADMIT CARD.
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NOTE:

(i)

(ii)

There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
questions. Section A is compulsory and all the sub-sections have to be attempted. There are 90 questionsgin
total in Section —A in which the Child development and pedagogy is bilingual.

Section B comprises of Mathematics and Science — 60 questions and Social Studies/Social Science =60
questions. In Section B out of the two sub-sections (Mathematics and Science and Social Studies/SociahScience)
only one is to be attempted.The Section — B is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1<30)

1 | The thinking process involved in producing an idea or concept that is new, original andwuseful is termed
as:
(1) creativity (2) innovation (3) intelligence (4) synecties
1 | 32, vifsa w3 Quiialt fegma A ugaT § UeT a9s feu fafos fEz8yfepn & ot nrfpnr arer &
(1) ITEIHIIT (2) s&E3T (3) gdt (@), et afean
2 | The transmission of traits from parents to off-springs is called:
(1) environment (2) genes (3) heredity (4) homeostasis
2 |yt 3* gfon 3 IS € A9 § WU IS
(1) ufg=azs (2) aa (3)feTm= (4) A-AfaSt
3 | Which of the following theories identifies fourfstages of child’s intellectual development (sensory-
motor, pre-operational, concrete operational & formal‘operational)?
(1) Erickson’s theory of Psycho-social'development (2) Freud’s theory of Psycho-sexual development
(3) Jean Piaget’s theory of cognitive development (4) Kohlberg’s theory of moral development
3 |frui3 99 € Sfud feam it 979 nigia=t €t Ue'e g9eT I (ASEl-Hed, Yae-Ao7sd, AgS ATSd M3
Suvaa AETsa)
(1) WfdaHE € HE-ANTAS feg ™ e (i (2) IIfes e HE-f&ara feam e faatg
(3) 7t fummar & AfarifeTava feam e fauis (4) So%gaar e &f3a feam = faars
4 | A process by which a‘parent assumes that his child’s traits are all positive because one trait is positive
is termed as:
(1) halo effect (2) hawthorne effect
(3) law of effect (4) reverse hallo effect
4 | Qu yfqmr, faw Tt 4l feo s 8¢ g5 fa €qF € 99 &t Avdbt femmaret rraraana 95 fagfa fear
femmgT Aargrang J, § Wy 35
(1) ufelm yg™= (2) TTHIS YT (3) ufge™H ysr= (4) feudtz ygre
5 “{.Which of the following is NOT the benefit of integrating student-centred learning into the curriculum?
(3)'strengthens student motivation (2) promotes peer communication
(3) builds student-teacher relationships (4) hinders discovery/active learning
> | fefergdt-afes fafiwnr-yrust § usad 578 #3s e fausr &9 54t §
(1) fefenmaet & mfgigaT § HAg3 J9eT T (2) IH-T39T ATET 57 HE9 § Tu8er I
(3) fefenragt-mfomua ffg arfer gaer 9 (4) ¥a/fapmits fAfir-yrust feg garee geer §
6 | A developmental perspective involves concern with changes occurring over time in:
(1) form (2) rate (3) sequence (4) all of these
6 | feam ufguy At € &8 &% fan few Tryq ufseeast 7% fug &
(1) 3y ) HE (3) MEIH (4) Qu3a3 Arg It
7 | An appropriate form of assessing students’ performance in practicals is:
(1) interview (2) observation (3) questionnaire (4) written test
7 | ytar few fefemragnt € yeans € WEiae 996 & Quuas gu
(1) feeafeg (2) fadtus (3) yasT=sT (4) feu3t udhue
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8 Ramesh and Ankit have the same 1Q of 120. Ramesh is two years younger than Ankit. If Ankit is 12 years
old, then the mental age of Ramesh is:
(1) 9 years (2) 10 years (3) 12 years (4) 14 years
8 | IHE w3 Wfaa 8 120 T AS 1Q 31 IHE #Wfaag 3 € AE g7 31 7 #fazg €t ©n9 12 e 3, 3t am &
HsfAa @Ha I
(1) 9 & (2) 10 IS (3) 12 7S (4) 14 S
9 | Images, concepts, symbols & signs, language, muscle activities and brain functions are involved,in:
(1) adaptation (2) motor development (3) problem solving (4) thinking process
9 | fé&w, yas=r, yIa M3 {9, g7, Aeteq arstfeutt W3 fewrait aon fan feu fafagdsl
(1) MEgBE (2) Yaa feam (3) M & s (4) fo8& yfem®
10 | Which one of the following theories view that behavior could be shaped through successive
approximation and reinforcement of responses more nearly approaching desifed behavior?
(1) classical conditioning (2) instrumental conditioning
(3) operant conditioning (4) social learning
10 | fao= fAuta € feg uasT I fa fewoe § wgafia fadesT w3 fefes fesua € wif3 faae yfsfaom=r &
fegtaes aat g 7 AaeT I
(1) IBHIGT WgdBE  (2) SHIT MEIBS (3) Afepr™ g8, (A)HAS i fm—-yru3t
11 | Which one of theories of intelligence advocates the presence of general intelligence ‘g’ and specific
intelligence ‘s’?
(1) Anarchic theory (2)hGuilfard’s theory of intellect
(3) Spearman’s two factor theory (@) Vernon'’s hierarchical theory
11 | gt &t faos fAuis Araes g4t ‘g’ w3 fefare gt ¢’ €t Hgeait €t a3 g9er 91
(1) MarAa3T fAgts (2) farseds e gt er fAurg
(3) AUtgH® e e-aradT fAatg (4) T9HE T guTfad fAUrg
12 | Which of the following is NOT@n elemeft of learning event?
(1) learner (2) internal eonditions (3) stimulus (4) teacher
12 | fggsr faferr-yrust wesT e I3 a4t §
(1) fafmrast (2) Migfoa T&3 (3) B<tus (4) mfomus
13 | Which of the following is NOT an)example of discrete variable?
(1) age (2) gender (3) marital status (4) place of residence
13 | faost ferm sget @erada izt J1
(1) Eva () f8ar (3) fe=fox Afgst (4) foofert gt
14 | The typefof evaluation which is used to monitor learning progress during instruction is called as:
(3)diagnastic evaluation (2) formative evaluation
(3) placementevaluation (4) summative evaluation
14 | frfir Sgrs fi'ye €1 yarst § Hates 996 Bt <93t At yatae € fann § vie 95
Q). foefaad Haas (2) TTSIHT HBES  (3) ATES HE& IS (4) AIBETINT HBaS
15\| Special needs education is the type of education:
(1).given to very special people (2) given to persons with disabilities
(3) provided to intelligent people (4) established by colonial masters
157 ferim (afon) & fAfwnr & 83 9, feu fAfwprr &t faost fan §
(1) wif3 feim Sor § fest met (2) fagtiargret @@ fenastnt § fest wet
(3) UM BT § Y5 A3t ATel (4) FASITET HTHedT @8 AETTU3
16 | The gifted child:
(1) learns rapidly and easily (2) retains what he/she has heard or read without much rote drill
(3) reasons things out (4) attends to stimuli for a shorter period
16 l{g"'q g9
(1) 3t &7 M3 At 39 firyer §

(2) 7 g% €7 & few At ufgwT Jer 3, 8w § 993 3¢ S via 3 fasT e gueT I
(3) T & 399 3 Yg¥ET I
(4) 993 We AN B8 Uad @5 fomrs féer 31
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17 | Which one of the following is the better item of essay type of question?
(1) Discuss Newton’s laws of motion (2) Explain each of Newton’s three laws of motion
(3) What are Newton’s laws of motion? (4) Write note on Newton’s laws of motion
17 | fs¥u-gut yAs <t gu39 He faost §
(1) fates @ arsht @ faon Gua aur a9 (2) fates @ a1t @ 3 faunit feg g3ar &t femimi e
(3) fs€ew € a3t © fow ot 957 (4) fs€e= € a3t © fomt €73 &< fad|
18 | Which one of the following cues does NOT indicate visual problems in the children?
(1) difficulty in following direction (2) frowning
(3) stumbling (4) unable to estimate distance
18 | fgusr Aa3 gfont it swat &t Al =t @ fermer aat a9er
(1) foerfes & use a9 feg #iy (2) {363t Iz
(3) 399 yTET (4) 1 T MEHS BITGT € AT
19 | Children with speech impairment can be assisted by:

(1) encouraging them to express thoughts in the classroom
(2) helping him/her to pronounce correct sounds

(3) helping him/her to hear his/her spoken errors

(4) referral to specialist for complete evaluation

19

gz< © feag o8 gfewt &t fan 3gt AorfeaT a3t A7 ngEt @
(1) €5 & I feg fegd yare J9s et §3nfaz agaT

(2) 85T €t Aot st T @uras feu AofesT aaaT

(3) 85T Tt MUt I IS s feg AuTfeaT Jaar

(4) ydt 79 et fernar 3% graeT
20 | Slow learners whose educational attainment falls below their natural abilities are labeled as:
(1) backward (2) gifted (3)juvénile delinquent (4) mentally retarded
20 | Yre fAfenradt, fagt €t fAfenana yugt €t vt yigfsa desr=t 3 we 3, @qF § mfpnrafer 3
(1) U= J¥ (2) yg g (3) faHa-mugTat (4) WafAg 39 3 Meg U
21 | The first stage in the learning of a'skill is:
(1) precision (2) manipulation (3) coordination (4) imitation
21 | gEE3T fiye &t ufaml mi=nEr @
(1) ufegaaT @) fesgd-gmssr  (3) IBHT (4) MEdas
22 | Motivation begins with needs exists in all of us. The need, that the student would tend to fulfill first
pertains to:
(1) esteem (2) physiological (3) social (4) self actualization
22 | mfgysa B=t 3 geger I frags A8 Arfont few feens 31 far 83 § fefenradt A9 3° ufost ydt Test
graam), @R eniET fan 5% J
(1) oS (2) Adted (3) A (4) Mm3H-fArgt
23 |"Communication with students means:
(1)'asking them to do a task (2) exchange of ideas
(3)giving them directions (4) informing them of your idea
23 | fefenradtmt 7% A9 €7 H3BE T
(1) €&t & a1 I35 BE mryST (2) fegrg Tetear
(3) &t & foerfeat et (4) vy fegrat 3 €1 & Afexs dasT
24 | When delivering an effective lecture in classroom, a teacher:
(1) establishes an eye contact (2) employs meaningful gestures
(3) stands stationary at lecture stand (4) varies pitch and tone
24 | guHEH few ygreardt Bauq féer dfewr, nifomua-
(1) »yt & AUad AETU3 gaeT J (2) MIEYTS AF3T BT YUaT JdeT I
(3) BITI HSF ATOHS Afgg y3er J (4) MTUST HE M3 IS & gEFeT Ifder J|
25 | An example of media that transports learners to remote places by means of visualized reports is:
(1) educational television (2) educational broadcasts
(3) overhead projector (4) telephone
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25

en wifmnnt & €eges, fagsr fMfumesnt § araufsa foleet € Arust aot geeast g=r 3 @ AeT I
(1) fAfenava estfews (2) fafemmava Yrras (3) fAg-GuasT ivea (4) eBES

26

Self study habit can be developed in children by:
(1) citing examples of great people (2) giving lecture on self study
(3) giving your own example (4) making new literature available

26

gfent feu re-mfors &t wrea fan 39t feafis i3t A7 Aaet T
(1) Ho'& fomadtmt &bt Gergst & & (2) A=-nifons QUT Baga € &
(3)MuSt Gegas © F (4) &=t Arfog QusTy J9=T 9

27

For introducing a topic in classroom, what activity should a teacher do first?
(1) explain the rationale (2) inform the objectives
(3) tell topic orally (4) write topic on chalkboard

27

FBHIH feg fei v ufad a< e, mfmrua § ufost arsifent ot goat Iigt @
(1) ITF-mrurg & fenrfinm gaaT (2) GeHt € FUaT Tt
(3) ga&t few 979 €RT (4) g9y Qua femr fayer

28

Which one of the following is an example of reinforcement?
(1) No Lata, the answer is not 45 (2) Kamla, can’t you helpyKeerti'with her answer
(3) Oh no, as usual, you are wrong (4) Suniti, youfhave said rightly

28

Afedtaes &t @ewes faust &
(1) &4t 37, €39 45 54t T (2) MBIHAT 3 Ste3T ©F &7 € €739 few AorfesT a4t g9 Aot
(3) &dt, IHRET IiaT, AT IBI T (4) H&TS1, FHT staat fagr I

29

Which of the following is NOT an example of a_ concreté concept?
(1) ability (2) chair (3) force (4) motion

29

faost rgs wesT €t @v9es &t
(1) §ar3a™ (2) IIHL (3) 98 (4) ISt

30

The reading technique that would be employed to locate terms and references in an index or thesaurus is:
(1) key-reading (2) re-reading (3) scanning (4) skimming

30

ugs <t 3T, fan €t <93 mgaifear #f AH-»9y aF feu yef w3 fegg 39 oW it Aait, @n g
"ye I&
(1) mfIHTITYIE U3 (2) USE-U33 (3) pur-fend@ne (4) AIHTT &HT

ENGLISH LANGUAGE - 30 QUESTIONS (31-60)

Read the passage/arefully'and answer the questions (Q. 31-37) that follow by choosing the best alternative:
What's the computer's'mother tongue? Which language does the computer speak? Compuspeak. What is a
conglomeration of“ecomputer languages called? Computowers of Babe! Witticisms apart, we do need to
communicatepwith computers. When the Pentagon wanted a new computer language that could do most of
the routine jobs with ease, it made its scientists look at more than 150 different computer languages that
existed in the United States. After a few months of intensive testing of most of the available languages,
American scientists decided that none of them was suitable for the job. So the US Department of Defense
invented yet another language, making it about the 151st. It then went about searching for a name for the
lafguage. That was not easy either. After going through more than 200 suggested names, the DoD didn't find
anything "precise enough". So, a new female name was picked and the newest computer language was called
ADA. Lady Augusta Ada Lovelace could be considered the world's first computer programmer, the first
software specialist. She was Lord Byron's daughter and the chief inspiration for the world's first computer
engineer, the father of the computer, Charles Stanley Babbage. ADA, the language is quite tough, complex and
highly detailed piece of software and is being adopted to much of the western world's military and space
applications. ADA can work with multiple parameters at one time, is quick, efficient and precise. But the non-
military world does not exactly need ADA to carry on its business. There are about a dozen other more popular
language that fit the bill very well. Though almost all of them seem quite tough, complex and cumbersome to
work on and write with at first sight, they are not tougher than learning a new foreign language and seem
relatively simple once one has a hang of them.

31

After whom, according to the passage, was ADA named?
(1) Lord Byron (2) Stanley Babbage (3) Augusta Lovelace (4) Pentagon
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32

Why did the Pentagon want a new computer language?
(1) to launch simple defense operations (2) to execute routine tasks
(3) to maintain their schedules (4) all of these

33

Why did the DoD find it difficult to choose a name for their new computer language?
(1) no name seemed precise

(2) every name had been already used

(3) they did not have any repository of the available names

(4) they were unable to get approval of the president for the chosen names

34 | Why have European militaries adopted ADA?
(1) is easy and simple to use (3) they are under agreement with the lS
(3) can work on many parameters at a time (4) all of these
35 | Why does the civilian world not need ADA?
(1) other languages are relatively simple (2) other languages aré economical
(3) other languages are less complex (4) all of these
36 | Identify the word closest in meaning to the word: "PRECISE"
(1) defined (2) permissive (3) mild (4) diffused
37 | Identify the word opposite in meaning to the word: "CUMBERSOME"
(1) awkward (2) bulky (3) mamageable (4) unwieldy

Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best alternative:

What is the future which awaits our children? The underlying assumption ofithe question that Indian children have a
common future is itself dubious. It can legitimately be askedswhether@student who is well fed, attending a boarding
school in the salubrious climate of the hills, and learding to Use computers has any future in common with a
malnourished child who goes to a school with no blackboards, if indeed he does go to school. The latter may have no
worthwhile future at all. And it might be worthwhile to analyze the significance of this marginalization of more than
seventy five percent of the children of this country; The failureto provide an infrastructure for primary education in
the villages of India more than 60 yearS’aftet indépendence is in sharp contrast with the sophisticated institutions,
for technical institutes of higher eddeation are funded by the government, which essentially means that the money
to support them comes from taxés. And sinice indirect taxation forms a substantial part of the taxes collected by the
government, the financial burden is bofne by allsthe people. L.K.Jha put it graphically when he observed that 25
paise of every rupee spention educating an lITgtudent comes from the pockets of men and women whose children
may never enter a proper classreom.

38

The author is trying to Righlight\which'of the following:
(1) the greatness of lXKiJha (2) need to have common future for Indian children
(3) need of sophisticatededucation for rural poor  (4) faulty system of direct taxes

39

What seems to be likely answer of the author to the question posed by him in the first sentence of the
passage?

I. there is'no common future for the Indian children

IIithe future is worthwhile for majority of Indian children

Il. theamajority.may never enter a proper classroom

(1) onlyl (2) only 1l (3) only 1Nl (4) both Iand I

40

Which of the following pairs have been termed as 'sharp contrast' by the author?
I.dnfrastructure for technical education

Il. Lack of infrastructure for rural primary schools

I Twenty five paisa of every rupee earned by government is spent on education

IV. the financial burden of higher technical education is borne by all people

(1) and IV (2) tand 1N (3) tand IV (4)1and i

41

According to the author, who among the following does not have a hopeful and a prosperous future
I. All students from technical institutes

II. All students financially supported by the government

(1) only| (2) only 1l (3) bothlandll (4) Neither I nor Il

42

Which of the following statements is not true?

I. The author welcomes Govt's initiative on primary education
Il. 75% of the children have a bright future

lll. 25% cost of educating a technocrat comes from poor people

(1) only| (2) only ll (3) only 11l (4)only land Il
43 | Identify the word closest in meaning to the word: "DUBIOUS".
(1) unarguable (2) uncertain (3) undoubted (4) undeniable
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44 | Identify the word opposite in meaning to the word: "SOPHISTICATED".

(1) complicated (2) stylish (3) difficult (4) facile
45 | What is the major concern reflected in the passage?

(1) the gap between different sections in Indian society is increasing

(2) Indian children do not enjoy common future

(3) both (1) and (2)

(4) only (2)
46 | One of the principles of materials preparation for language learning is that

(1) complex materials should be chosen (2) grading of materials should be done

(3) any kind of material can be chosen (4) a small amount of material sho@ld belintroduced
47 | When a child is asked to recite a poem, it can help the teacher to test

(1) knowledge of literature (2) proficiency in speaking

(3) acting talent (4) comprehension
48 | ‘Brainstorming’ means

(1) to collect all kinds of ideas on a topic (2) to do some mental exercises

(3) to make efforts to understand something (4) to give some kind of stimulus to the brain
49 | The structure ‘He goes to school’ is often produced by learners due to

(1) failure of intelligence (2) mother tongUelinterference

(3) overgeneralization of rules (4)wrong teaching
50 | Atest which is administered at the end of a language courseis

(1) diagnostic test (2) placement test (3).achievement test (4) memory test
51 | Practice of grammatical structures in a controlled manner can be done by

(1) correcting wrong sentences produced by learners £ (2) gap-filling grammar exercises

(3) writing paragraphs and essays (4)fexplaining the use of particular structures
52 | Atest of listening comprehension issa testiof

(1) receptive skill (2) productive skill (3) hearing ability (4) phonology
53 | Organization of arguments and'ideas in‘paragraphs is an important aspect of

(1)writing essays (2) writingfmemos (3) writing stories (4) writing personal letters
54 | Which of the following is'an incorrect assumption in language teaching

(1) learners acquire language by trying't@ use it in real situations

(2) learners’ first language playsan important role in learning

(3) language teaching'should have@ focus in communicative activities

(4) language teaching should give importance to writing rather than speech
55 | Correct pronunciationof individual sounds is related to

(1) Accuracy (2) fluency (3) both accuracy and fluency  (4) neither accuracy nor fluency
56 | Mother-tongue influehce can be effectively minimised in the classroom by

(1)'using the mother-tongue more often

(2) giving examples from the mother tongue

(3) giving'aiot of exposure in the target language

(4),giving inputs from the target language in a simple, graded manner
575 Language acquisition occurs only when

(2)he child is taught the rules of grammar

(2) the child is given a reward

(3) the child has exposure to the language

(4) the child absorbs the language without conscious attention
58 | ‘Interactive’ listening is

(1) listening and responding (2) listening for mood and tone

(3) listening for word stress and emphasis (4) listening for finding out speaker’s attitude
59 | Reading skills can be developed best by

(1) writing answers to questions on the text (2) focusing on the use of words from context in the text

(3) doing vocabulary exercises (4) doing quizzes and playing word games
60 | For teaching grammar, the best grammar that a teacher can use is

(1) traditional grammar (2) modern grammar (3) pedagogic grammar  (4) no grammar is needed
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PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)

J5 fau U3 & ug & €°39 fe6: (Q. 61-68)

Un & fen gatit fee mret af3s< € mifrg Jrs feg Uer 9 fa v Ui & gatrt g grmg Afer 91 ufast
fA" oAt 39 €1 faa3 q9aT W3 =7 =S Hiws ©F GOn AT, 87 ge gfmt €t anret €3 user, 88T &
&g gAST 3 79 Arfed-aATed €91 378 UAT aHrgeT 99 fenaat e uar g< famrr 3, fen &8t vimd avrdifes
fowerara ot 37 fev fauz g3 afews T1 gH-dIet ars 37 feu T fa vors fapemdt 3 ehis Sa @ vt

-39 Aedt ‘T BA-AHTT M dT fanerardt § fdee w3 famerarg § uret WUt ane 95, ug 8T e »u'§
fameraTat adt Fae; Mue & U& & MrueT »ias & aHTel - fermar & qa3 exe I& | famu™ = feara
HTIe TF, AT U™ BareT J fa amat, datit, mits-rarfeere, »imd Ga1 feu uss 3 en@ant Stfaes &
3t gew a4t | fen Bt ST, wrdtit 3 S9itt &t B3 J| fgaeardnt § YT Y 399 6T ©F At sBOT
#rer J fa €9 ot T5-U9 v 521
61 | myat gatut feu fagst gt yurs 37
(1) UAT yggeT (2) gfrpt T ¥ gA o TAT arger (3) W& (4) Ba-feyrer
62 | vgy UF @ eT-aurg@er fa g U9 fapur 37
(1) s '3 ) IBEff<g
(3) IyIst feT (4) UF S gar feg gpure famr 7
63 | yfawst vy & GEm &t Ai?
(1) feg@ sfger () vzt gt 'gafger  (3)@AhsIt El faes JasT (4) ga gBHeT
64 | mewt '3 vg d fgpewe § de féeer 37
(1) WM™ A&3T (2) fgmergrat M3 Fes (3)[€=3 (4) AgAd
65 | fgaerardt mruSt avTet g9 af AET I8
(1) TI-AT &t aHret (2) Ma&-fermar &t JaHTg
(3) y&-urla €F anret (4) UGHTIHT T SIS
66 | ‘sfga< v drg’ I& fafrr 'St &
(1) yar=ar Q)T (3) ferme (4) myrE
67 | faara’ e &t veg I?
(1) nyt @) femt (3) 3Hd (4) fem
68 | g ur ga<t fAedy ot aHaer I?
(1) FEH=T (2) $5 §8aT (3) JgT-gdt (4) faaerarg
J5 fau U3 dug@ yast'e €39 fe6: (Q. 69-75)
s e fegufoesH, WS Tatnt = s onys a9'!
I3 J feg Iaeiq e, 3 fesy I Iedlg <t
W IBH € fg »Hg & fmrdt 39| eRzu3 94|
Fe93 d IB I I T, FEII S BT I T
3Jdd &7 Bdl, [edH &, 39dd BT IBH &
few T fograr 78 Ao< Ud | EHEI 94 |
e fa fier wideimt, »r< fa W3t arstrt
6¢ A% € T=ATIG, 6F &9 @ TeAIE
WH vy ferd § 7THE U3 | eR3y3 dd
69 | few afesr fg at g&ar fe'3T fapar 97
(1) ferrseat e (2) MH& &7 (3) AT §BE € (4) e furrg &7
70 | gatut Trfent § fan nifges™ €3 ersuz T35 Bt fagr faprr 37
(1) 3€d3 & (2) EH g5t & (3) M & (4) fgHeag &
71 | ‘gun @ f& mis €t fiarat 39° arfe Gat ot fast § mus € it g9 wet faar faprr 37
(1) ™ BT & 2) THsEEs & (3) Buyat & (4) EW gII3* &
72 | faw dt\ § 8999 a4t BaIet IateEl?
() fesHnm3 aand (2)end 3)8at & (4) &=t &
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73 | ‘wifges™e e ot »ag I?

(1) MHe™ (2) yf3famr-uza (3) Iedtg (4) MHE
74 | ‘g I &t = I?

(1) e (2) IHET (3) B (4) B
75 | ‘gedld’ e ot »ag 97

(1) A3& (2) 3€td (3) fena (4) eH®
76 | aret T € ASHETSt I fagst 37

(1) IHs (2) Sfea iAfgz (3) foet (4) gTart
77 | faod =a fes fenfia fog €t ata =93 g&t I?

(HF'1g@afarr () g!eBIfamr () FZW!ITfamr (4) T W T fapr!
78 | ‘gavst’ pae e fequl mav g

(1) @ (2) mraE (3)ed (4) ALg
79 | {mret g § foue wEt faost fet ga<t 97

(1) HraHt 2)ME (3) S=&TarEt (4) JroHxT
80 | Afipreraa fermes Ehit famit Jetut os:

(1) 979 2) e 3)& (43
81 | FouH1g guTeg J1 < feu Anaait fafes fagst 9

()3T (2) AIEHIZ (3) ggfeaq (4) et & &t
82 | gvod fad ya9 € §< g7

()& () A3 3)UH 4) s
83 | ¥ for ot fe¥ fagsr a3 &

(1) forft & WSt e B T (2)ywt g ute ot

3) TR AT AT B I (4) o&t & 398 ff9 §8
84 | gwt, HaT, AT3T HET J& fafunt fegiat aa?

(1) uzst= (2) fafemr (3) &= (4) femms
85 | immdt few qo 95 -

e (2)f3=s (3)99 4) i
86 | ‘yAT™™ mEw il faria:

(1) ¥yH &= (2) W &= (3) feads=ga &= (4) =TI 5=
87 | it fowiAsT &T% faehAT ST Bareit 757

@8 (2)5 (3)3 (4) 10
88 | g9 Wurd 3 HEua bt famdt et a5

(1) feer )€ (3) iw 4) f3s
89 1\ 9o fafimrfes femme fags a57?

(e, e (2) Far, FHT (3) 89, feg (4) wfdeq, afdeg
90| Jaf5u muet 9 fags™ mirsT9ed HeeE &4t &

(1) Gunr (2) HSWT (3) f&fenr (4) yimr

SECTION - B

MATHEMATICS AND SCIENCE (BILINGUAL) — 60 QUESTIONS (91-150)
91 | T—e¢js

(1) a positive rational number (2) a negative rational number

(3) an irrational number (4) both rational as well as irrational
91 | T—e ¥y

(1) T&TIH Ufarmr Afgr (2) faerava ufarnr Afwur

(3) miufar A (4) @< ufarpd w3 mufarpd Afeenm
22 If 24x is a multiple of 9, where ¥ is a digit, then what is the value of X ?

(1)6 (2)3 (3)9

(4) 4
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92 24 x A p o o a _. o s
g 24 9ur e J, fAg X fea wa I, 3T Yer vy af J=ar
(1)6 (2)3 3)9 (4)4
93 -1 (+2) =
If (x 1 y+2) 7, X and Y being positive whole numbers, then the values of * and Y are
(1) 8,5 (2) 15,12 (3) 22,19 (4) none of these
93 _ —
a (e=1)(y+2)=7 , X3 Y usTIHT Yds W 75 It 3 T HB I8
(1)8,5 (2) 15, 12 (3) 22,19 (4) fegt feg” IELST aJt
94 | The cube root of 0-000216 jg
(1) .6 (2) .06 (3) .006 (4) nane of these
94 | 0.000216 gr WS- I
(1) .6 (2) .06 (3) .006 (4) fegt fegaet <t &t
95
\/5 + \/g’ \/E + \/8, ‘/g’ \/ﬁ - \/5 are four numbers. When written in ascending order, these are
) V2+6, VB A11-43 V3+45 ) V2 V6. V345 -3 8
95 o - LA .
V3445, V2446, 8, J11-43 79 AfeoT 95| 7 fEg T § 99 Qi fee fefonr aier §, 3t feg 05
o) BT AIT-VE 2446 W 23 B2 #6345
96 | Set of rational numbers is a subset of
(1) natural number (2) integers (3) real'numbers (4) anirrational number
96 | yfguy Afgwr e Ae faw e femd:
(1) U5 Ya&s W (2) Yy@& "M (3) TH3fed AfanT (4) nufar Afer
97 | The difference between compoundiinterest and simple interest on an amount of Rs. 15, 000 for 2 years
is Rs. 96. What is the rate of interest per ahnum?
(1) 8 (Me0 (3) 12 (4) 14
97 | 15,000 gu¥ < g 32 AT BEl FAIfeUt foruma W3 AUTIs feg W39 96 U T1Yf3 <aw femma g ot
3
(1) 8 (2hi0 (3) 12 (4) 14
98 | If selling price is doubled, the profit triples. Then the profit percent is
66% 105l
@, 3 (2) 100 3) 3 (4) 120
98 | 7 f<adt atwaigaret aq fe'st Aiet § 3t yaer fagreT § Afer 31 37 ya'e er yf3na &
66g 105l
oy 3 (2) 100 3 3 (4) 120
P Let " and " are whole numbers. If 72" =121 the value of " is
(1) 512 (2) 1024 (3) 2048 (4) 4096
B 586 Mw3 N ygswmasia ' =121 gt " ey
(1) 512 (2) 1024 (3) 2048 (4) 4096
100 | oo value of ¥0-01 ++4/0.81 ++/1.21 ++/0.0009
(1) 2.03 (2)2.1 (3)2.11 (4)2.13
100 | 0.01++/0.81 +1.21 ++/0.0009 gr e 5
(1) 2.03 (2) 2.1 (3) 2.11 (4) 2.13
101 The missing number in the sequence 1,2,3,6,% 20,37, 68 is
(1) 6 (2)9 (3) 10 (4) 11
101

1,2,3,6, % 20,37, 68 & g=t feg arfes -
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(1)6 (2)9 (3) 10 (4) 11

102 14 35
The product of two fractions is 15 and their quotient is 24 The greater fraction is
4 7 7 7
(1) 3 (2) 6 (3) 4 (4) 3
102 E ﬁ
& fist er e 10 w3 fegt ergar-es 24 & S fes &
4 7 7 7
1) 5 (2) 6 (3) 4 (4) 3
103 | A shopkeeper sold an article offering a discount of 5 % and earned a profit of 23.5%. What would have
been the percentage of profit earned if no discount was offered?
(1) 24.5 (2) 28.5 (3) 30 (4) 35
103 | feq gaTae9 & feq TAZ 5% € ¢ € UHTH 3 91 M3 23.5% H&"eT aufenm| Ad@elge &7 fe St Afet, 3t
@ne aHE Ha'R €t yfanzsT af get:
(1) 24.5 (2) 28.5 (3) 30 (4) 35
104 | A sum of money is borrowed and paid back in two annual installments of Rs. 882 each along with 5%

compound interest. The sum borrowed was
(1) Rs. 1620 (2) Rs. 1640 (3) Rsx,1680 (4) Rs. 1700

104

a9 UR U9 2 AT 96 M3 882/- JUT Tt € IBTAT fanat feg, I9a fana &% 5% gaafet afag,
TYR 99 fe 3 AFe 751 €ura st o fast At
(1) 1620/- gue (2) 1640/- que (3)(1680/- guE (4) 1700/- gue

105 If (a+b) =d° +b3' then

(1) ab>0 (2) ab=0 (3) a=0,6=0,a=-b (4) none of these
105 aF (a+b)3 =a’+b’ g

(1) ab>0 (2) ab&0 6 0mb=0ma=-b (4 fegtferat At
106 | Number of vertices andedgesiin a cuboids are

(1) 6,6 (2) 6,12 (3)8, 12 (4)6,8
106 | gaTg feg JEt fignt W)dat ehnt Afun gs:

(1) 6,6 (2)6;, 12 (3) 8, 12 (4)6,8
107 The polynomial f(x) has a double root -1, single roots 1 and 0. Then f(x) is

(1) (x—l)2 (x+1) (2) x()c—l)2 (x+1) (3) x()c+1)2 (x—l) (4) x (x+1)(x—1)2
107 fea gguw f(x)?éwgs—l,éa's;m 1M3 075 It fx) 3

) (x—l)z(x+l) (z)x(x—l)2 (x+1) (3)x(x+1)2(x—1) (a) xz(x+l)(x—1)2
108 Two'numbers are in the ratio 3:5 . If 9 is subtracted from each, the new numbers are in the

ratio12 123 . Then smaller number is

(1) 27 (2) 33 (3) 49 (4) 55
108 | & ffpr 3:5 € migus feu 95| 7 39 feu 9 wer fe'gr AteT T, 3t st Afunr 12:23 € migua feg 51

&t fAfenr 3

(1) 27 (2) 33 (3) 49 (4) 55
109 5:7:8

Seats for Mathematics, Physics and Biology in a school are in the ratio . There is a proposal to
increase these seats by 40%, 50% and 75% respectively, what will be the new ratio?

(1) 2:3:4 2) 6:7:8 (3) 6:8:9 (4) none of these

109

fea ng® fev afes-fefarnrs, Ifaa fefoamirs w3 Fie-fefarrrs &t Fiet 5:7:8 € nigu3s few os I fegt
Tt Fitet qHTTT 40%, 50% M 75% TUTEE T YAI'E J1 &< MU df g2

P-Il Test Booklet code- C Page 11 of 24




(1) 2:3:4 (2) 6:7:8 (3) 6:8:9 (4) fegt feg Iet &t &t

110 In aAABC,ZA = xo, 4B = (3x— 2) and ZC=y .Also£C— 4B = 9°.Then the value of £B is
(1) 73° 2) 82° (3) 25° (4) 49°
110 | o AABCgeg sA=x" £B= (Bx-2) 3 £C=y £C-2/B=9" 3 gifeg B ol
(1) 73° (2) 82’ (3) 25° (4) 49°
111 | The mean of the distribution in which observations are 1, 2, 3, ---n is
n(n+2) (n+1)
(1) 2 2) 2 (3) n(n+2) (4) n(n+1)
111 | Sz St wing, fArfeg Que 1, 2,3,-n 35,693
n(n+2) (n+1)
(1) 2 2) 2 (3) n(n+2) (a) n(n+1)
112 | The most effective teaching aid in mathematics is
(1) audio aid (2) visual aid (3) chalk and talk method (4) none of these
112 | aife3 few wf3 ygreardt siomys €3 3
(1) Mf3€ T3 (2) fegm® €3 (3) 9 M3 Fa3nfsdt (4) fegt feg It <t &t
113 | The perimeter of a circle is equal to the perimeter of a square. Thentheir area are in the ratio (use
22
r=2=Z
7)
(1)4:1 (2)11:7 (3) 14: 11 (4)22:7
113 s 22
# fez e ufory, <gar @ uforry & 9omge 7, 3T fEaHR 439ew fan gura feg 05 ( T gryGarad)
(1)4:1 (2) 1.7 (3) 14: 11 (4)22:7
114 | If four sides of a quadrilateral’ABCD are tangential to a circle, then
(1) AC+AD=BD+CD (2pAB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
114 | &% 939g# ABCD ©hiiyg9 gare’ &2 € AuanAt 95, 3t
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
115 | If a cone and a sphere‘have equal radii and have equal volumes, then the ratio between the height of
the cone andhe diameterof the sphere is
(1)1:1 (2)1: 2 (3)2:1 (4)3:2
115 | § fea 36 M3 I8 € IS forATag M3 NS MTfeds I, 3t a6 ©f 89t w3 38 © fenm feg nizus
o
(1) 1+ (2)1:2 (3)2:1 (4)3:2
116, [ The maimaims of questioning in the classrooms are
(1) to create interest and curiosity (2) to motivate the students
(3)to test the previous knowledge (4) all of the above
W6 hgmer feu yAs yss e HY GEF O
(1) fezsgmit w3 €3Ha3T Uer J3&T (2) fefenragmt & Ufea aasT
(3) Yy9gd famrs & Ugy JaaT (4) Budaz A9 It
117 | Which of the following factors is the most important in planning class-room learning activities?
(1) motivation (2) discipline (3) lesson outlines (4) audio-visual aids
117 | gum™gH fifumr -yrust arstfedtnt € Grsmdet few wfg vo's=eyes am9a fagsT o:
(1) mfsyas (2) MESHHS (3) Us & gu-gur (4) mrfsG-fegms S5a
118 | Evaluation of the subjects should be based on
(1) annual external tests (2) both internal and external tests
(3) internal test (4) none of these
118 | fefimt € ystae fan Gua g grdter o
(1) ArBTaT gTIdT ydtHE (2) €< mi3faa M3 gradt udhue
(3) Mt3faa udtus (4) fegt feg” aet <t &t
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119 E _C
[+-2 X1

To find the median of the continuous series, we use the formula: Median= f , here c

denotes the

(1) cumulative frequency of the median class

(2) frequency of the median class

(3) cumulative frequency of the class preceding the median class

(4) frequency of the class preceding the median class
119 E _C

[+-2 X

e Bt T Wizt WEH J95 SET, mRt Wistis f ¢ g39 o yhw see i feR Cer

H3BY J:

(1) HSts aet €t Afes mrfe3t (2) Hiztis Jt €t mriest

(3) Hizis et 3 yagst J & Afexs et (4) Hiztis It 3 yggst get of nirfadt
120 | The nature of mathematics understanding is

(1) difficult (2) simple (3) logical (4) ornamental
120 | gifea-fefornrs @ &g <t yfaest o

(1) vafas (2) 7e® (3) Sgfaa (4) A=t
121 | The presence of starch in raw food can be tested with

(1) Dil. lodine solution (2) Dil. HCI solution (3).Dil. NaOH solution (4) All of these
121 | 9 w9 feg Aeew € Hgeai & yay fan g™ &gt a7 Aaet 3

(1) Dil. Mfe6sts ws  (2) Dil. HCl W& (3) Dil. NaOH W& (4) Qudaz A9 It
122 | How many times a solution of pH& 3 be dilutedtoiget a solution of pH = 6?

(1) 2 (2) 10 (3) 100 (4) 1000
122 | pH =6 BT WIH YrU3 I35 Bt pH = 3@ UIH § faat =79 uIB™ JaaT I=am

(1) 2 (2) 10 (3) 100 (4) 1000
123 | The acid present in the ant'sting is

(1) Ethanoic acid (2) Methanoicacid (3) Citric acid (4) Tarteric acid
123 | sisft @ Far few Hg@ntns 3

(1) Saranrfeqafis (@) Haanrfea wfng (3) fafea nifrs (4) Traefaa wins
124 | Which of the'following is used for making insulation of electric wires?

(1) bakelite (2) isoprene (3) neoprene (4) Thiokol
124 | fgrrst St 3ot E st 39 seTe wEt Io fafnt fed fam t <o At wiet 3

(1) SesTEe (2) mrfemfts (3) s16ts (4) gfeGas
125 FWhichof the following is a sulfide ore?

(1) Bauxite (2) Haematite (3) Cuprite (4) Iron pyrites
125 | 38 fafumt feg* faost mseets s 3

(1) SaATEte (2) InreTete (3) faGQuarete (4) &7 yrfengten
126 | Which of the following bacteria is found in Ganga water?

(1) Coliform bacteria (2) Streptococcus bacteria

(3) Staphylococcus bacteria (4) Diplococcus bacteria
126 | 35 fofmrt fed fagar fiere dier @ urat few firser o

(1) Coliform #IS™E  (2) Streptococcus HI=TE  (3) Staphylococcus HIE'E  (4) Diplodocus HIRTE
127 | Copper obtained from copper pyrite is called blister copper. Gas responsible for the formation of

blister is

(1) CO, (2) cO (3) NO, (4) SO,
127 | gryg ufemmeie 3° YUz 37 (F7u9) § afBAed aug Wy g6 | 9fgHes a8 &Et fimea dm 3

(1) €O, (2) co (3) NO, (4) SO,
128 | The evaporation of water takes place from the leaves of the plants. The process is called

(1) Evaporation (2) Transpiration (3) Dehumidification  (4) Fumigation
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128 | fent € ufamt 3 Taulaes der J| fer yfgmr § e gs:
(1) THdiads (2) THY HET (3) fe-artaas (4) PATIIS
129 | In moving from outer most shell to inner most shell, the energy of shells
(1) increases (2) Decreases (3) remains same (4) Cannot be predicted
129 | pg 3 97998 % 3’ AT T Wedd §8 39 A< feu g5t € Goam:
(1) =Tt § (2) weet I (3) A% Ifdet T (4) ISy 7t &4t SSFETHaST
130 | Metal which is a constituent of Haemoglobin?
(1) Cu (2) Al (3) Zn (4) Fe
130 | grg, fAadt dhiosfas e war d3:
(1) Cu (2) Al (3)zn (4) Fe
131 | Which of the following does not conduct electricity?
(1) Fused NaCl (2) Solid NaCl (3) Brine solution (4) copper
131 | 3o fafimt feg* faosT faast e o&a aqt T
(1) fe€#5 NaCl (2) 87 NaCl (3) Tets Ws (4) 3w
132 | An element X shows a valency of 3 and 5. The formula of its sulphides in the two states are respectively
(1) XS ,XS3 (2) XSs, XSs (3) X3S, XsS (4) X,S3,%,S5
132 | X 33 3 M3 5 €t HawasT SeRgEr I € viengret feu fof @ Aseetsher gHe B39 O
(1) XS ,XS3 (2) XS3, XS5 (3) X3S, XsS (4) X3S3, X5S5
133 | If the energy available to the plants from the sun is 20,000J:What would be the energy available to the
lion in the food chain, Plant-> Dear- Lion
(1) 20! (2) 200) (3). 20007 (4) 20000J
133 | 5 gow 3 dfewt & Gusay €ea 20,0001 I Ft mora-B=t/fev e § Guway Qovr fdat J=ait:
Yer->faes>ae
(1) 20J (2) 2001 (3y2000! (4) 20000J
134 | Arrange methane, ethane, propane and butane in order of increasing boiling points
(1) butane<propane<ethané<methane (2) ethane< methane< propane< butane
(3) methane<ethane< ghopane<butane (4) methane>ethane< propane< butane
134 | 2q 93 QuBs—at @ o feg Mas)EIds, 1is w3 f982s & 3oty o€
(1) fa62s < U= < HE8 < HiES (2) HiEs < ghas < Jus < feges
(3) HiEs < &Es < YUs < fa8es (4) WiEs > 1ds < JUs < fafes
135 | A metal X is lowFinithe reactivity series X can be obtained from its compounds by
(1) reduction by heating (2) heating with reducing agent
(3) electrolytic réduction (4) None of these
135 | wfgfrmmtssT Sgifee o3 x wmy 31 few € wfgat 3° x fanw avdt yruz a3 7 Ager &
(1) BUSE S BWAIS (2) BYWITHT EHE 'S IUS
(3) feddefsfea BWaTs (4) Quda3s feg* gt <t aat
136'| A cart of mass 500Kg is pulled by a horse and acceleration produced in it is 4m\sec® . The force exerted
by the horse is
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) None of these
136 | 500kg E=WTs € fea 33 § W fu'ger I w3 fer feu 30w a1=3t-=a9us am\sed” 31 WS 8" arfenmr o5
I
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) Qudaz feg et <t aat
137 | An atom of calcium has a mass of 6.64X 103g. The number of calcium atom present in 10g of calcium is
(1) 1.5 X 10% (2)1.5x10% (3)6.023 X 10% (4) 2.4 x10*
137 | @HPY € UIH'E BT S90S 6.64X 10°g T 10g IBHPHH feT FBHMN & yanent €t farest &
(1) 1.5X 102 (2)1.5x 102 (3) 6.023 X 10% (4) 2.4 x10*
138 | The process of separating suspended impurities from water is known as
(1) Loading (2) Unloading (3) Distillation (4) Demineralisation
138 | yrat feg* et B Ut § Y J96 & Yfqur § mmue gs:
(1) Bfsar (2) MEBISar (3) IHEE (4) fsg-ufetaas
139 | Which two of the following compounds belong to the same homologous series?
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(1) C,HgO, and C,HO (2) C¢HgO, and CH,O (3) C,HgO and CH,0 (4) C,HgO and C,Hg

139

35 fefiprt feg fags € dfad mTs AT 331 &% HEfug os:
(1) CHeO, M3 CoHgO  (2) CeHgO, M3 CH,0  (3) CoHeO 3 CH,0 (4) C,HgO MF CyHe

140

A body of mass 2kg is thrown up vertically with a kinetic energy of 490J. The height at which the kinetic
energy of the body becomes half of the initial value is (g=9.8m\s?)
(1) 10m (2) 12.5m (3) 25m (4) 50m

140

2kg TS T fea i 490) aifsw Gon™ 578 Gue &% Afew wieT T | fan et €3 fis &t aifsw G
MIIT U I w Ut afg Atet 3, €9 3: (g=9.8m\s?)
(1) 20m (2)12.5m (3) 25m (4) 50m

141

If the diameter of the earth becomes two times its present value and its mass remains unchanged,
then the weight of an object on the surface of the earth becomes
(1) one eighth (2) one fourth (3) half (4) remainsisame

141

# fyg=ht e fonm fen € S9aWs e 3° € gt T Afer I w3 fen or Sons mges ofder 3, 3t fugst &t
ASY Qua uegg T I S ATt &
(1) feg-nis=t (2) fea-garet (3) T (4) s Ifder I

142

There is no atmosphere on the moon because
(1) itis close to the earth (2) itsfevolves around the earth
(3) its acceleration due to gravity is low (4)its acceleration due to gravity is high

142

¥ Que J8t T TEw &t I faffa
(1) feofyst e 839 @) feg ge=t ed upier 9
(3) IF3™ IId fen e a3t T9us fors I (4) Qg3 I3 fen € Irdt-=9us €9 9

143

A 1000w heater is used every day for 90 minutes. This heater will consume units of electrical energy in
30 days
(1) 45 units (2) 90 units (3) 30 units (4) 60 units

143

1000w & dteq =t g9 7 90 fileh et =g a1t Fiwt J1 fev gies 30 fest feu fanset Qonr @ f48 wiset €t
YU Faamm:
(1) 45 wfse (2) 90 wfse (3) 30 wfse (4) 60 wfse

144

A magnetic field line

(1) is the path along which a free north pole tend to move
(2) is the path along which a free‘iron particle tends to move
(3) is the path along which,a magnetic needle tends to move
(4) is the path alongwhicha'line is traced

144

gual 439 IuT

(v, €9 HigaT I FrME@E™ A339 €'t ugw o5<e et yfeas ger T
(2)QE HiggLd.fan € &% F339 87 d< I8< et Yfeag Jur
(3) ETHIgaT J fAF € 57% Tuat HEt 98 et Yfeas J€t T

(4) €T HTaar I fAR € &% Iy fudt At J1

145

A body in uniform motion in one dimension moves from a position X, at time t; to another position X, at time t,.
Which of the statement is wrong for this motion?

(2)"’Actual distance covered in time t; to t, is magnitude of displacement

(2) The velocity calculated by making any choices for t; and t, always give the same result

(3) A larger value of the difference t,-t; will give a small value of velocity because velocity is obtained by dividing t,-t;

(4) A larger value of X,- X; will give same value of velocity as a smaller value

145

fear feur feu feana ot & fea fiz t, At 3 X, AfaSt §° t, At 3 fea 39 AfESt X, <% gger JI fen st @3
fags aus IB3I &

(1) AT t;, 3 AN t, 39 3 A1t em3fed gat femaus e ufow=

(2) t, M3 t, BE TE 9 FI6 THS UfgaB U3 Ta1 IHA™ ANTS Ufge™ yers aer §

(3)t,, t, € W3 T oW WS, 9T € MBU HS Yo' aar fa@fat, - y, St ez Fyuz e g

(4) X,= X, T EIOW HE, MBUHS T <JT € IS HS YE'& JIaT |

146

A body moving in a circle travels distance which is directly proportional to time. The body travels with
(1) Zero velocity (2) Constant speed (3) uniform velocity (4) constant acceleration

146

feg feu 9 four fis gdt 2 goer I faust T 39 3 MY € wigurs few 31 s fan 573 9% faor 3
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(1) §&W 2J1 (2) Afgg =ar (3) feanma =ar (4) nfgd ardt-=9us

147 | If the mass of both the bodies is reduced to half. The gravitational force between them becomes
(1) Double (2) Four times (3) One fourth (4) one-half
147 | 5 €9t fist @ €oWs § wer & »ur g9 fesT Afer J, 3 feqt fev ggs™ Waene g AieT &
(1) &gt (2) g9-g<t (3) few-garet (4) wiTr
148 | Which colour component of white light is deviated the most through a prism
(1) Red (2) Yellow (3) Blue (4) Violet
148 | fg'¢ yam e fagsT dar 33 fygpi adt A 3 v fesfez Jer d:
1) &8 (2) utsT (3) &t&T (4) Tgret
149 | The direction of force acting on a current carrying conductor placed in magnetic field is determined by
(1) Right hand thumb rule (2) Cork screw rule
(3) Fleming’s right hand rule (4) Fleming'’s left hand rule
149 | gydt 437 feg 79 yar-=d I 3 fuHt® g% <t fenr fan gwrer faourfas st it O
(1) AH-T 8 #JreT fsw (2) I AfGS fow
(3) B o7 AH-TEr fatnit (4) SBFREEL T fawn
150 | Which part of the eye is adjustable in accordance with the light conditions?
(1) Iris (2) Retina (3) PUpil (4) Lens
150 | ygmm €t T3 MEAE MY T fausT Iar viggseHar g I
(1) My-yz=t &t fF'st (2) 7Y &7 yger (3) iy <t y3=t (4) B&T
SOCIAL STUDIES / SOCIAL SCIENCES (BILINGUAL)=,60 QUESTIONS (91 — 150)
91 | When the government was faced with castems that were different to the laws that it enacted it
allowed them to exist under thefhame of ‘customarylaw’. Custom here was defined as
(1) Something that had beengracticed&ince ‘time immemorial’
(2) A practice on which there'was sa€ial unanimity
(3) A belief that was baeked by the khaps
(4) A practice that was partof the histery of the people
91 | #<" Aed'd § gdit ST HOHST IdaT fum fraust fer =8 9o ags 3 fés /i, 3t fen & fern § ‘yaars
TJds’ € &t Sigen3 dfge fesr | e yar § fa< ufsefia atsr fomrr i -
(1) fAn 9% & 998 ML UfosT™ 3 mirgae g famm I (2) wmifrar fe=are fam 8ud mAS Aagiist At
(3) Mugt femel fAn BT mHges vyt @8 137 fapr it (4) wifagT fe<gre fagsT at @ fefggm e fow At
92 | Theinamejof.the regent who reigned for Akbar was
(1) Humayun (2) Babur (3) Bayram Khan (4) Salim
92 1| @w divie e ot & /Y fAR & »d9d T ™I ARG J19T:
(Mg (2) o899 (3) I yt (4) ABM
93 " |hRecently there has been much controversy over the condition of glaciers in India. The fear is that
glaciers are
(1) Advancing (2) Deepening (3) Retreating (4) Thickening
93 | g dt feu 993 feu TBHHaT & menEr g9 aet Tre-feee faor I | 39 feu T fa TB8HWe I5 :
(1) =TT IJ (2) afgd § 7 (3) we 39 (4) g8 I 3
94 | Who was Pliny?
(1) A poet who wrote on the history of India
(2) A warrior King who settled in Afghanistan
(3) A Roman scholar who mentioned India as a trading nation trading with the Roman empire
(4) All the above
94 | ymfeat d< At :

(1) fear o<t famr & 9793 © fefgam g9 fafpmr
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(2) GuT geag fAg3T MedrferaTs feg mrae gfeur
(3) IuE fee=s fAN & 9793 €T THG ATHITH &8 SUTT Jd6 T8 SUTIA ITHST 28 IS dlIgT
(4) Qudag A9 Tt

95 | Which of the following factors are responsible for the rapid growth of sugar production in south India
as compared to north India?
I. Higher per acre field of sugarcane Il. Higher sucrose content of sugarcane
lll. Lower labour cost IV. Longer crushing period
(1) 1and Il (2)1, l1and IV (3)1, llland IV (4)1, 11 and Il
95 | €34t 9793 € IBaT feu TuSt IO feu U7 @3ues ©f 37 feut Bet fineg T fagand
1. 915 €t Y3t g9z 8939 Gun Il W3S & &9 At
IIl. fors3e Hagdt B9z Iv. & € 8939 45 Hzar
(1) 1m3 1l )1, 1M IV (3) 1, M mM3 IV (4) L,Ar3 1
96 | When does history begin?
(1) when human civilization begins (2) when human memoryibegins
(3) when written sources become available (4) all of these
% | fefsgmas ggderd:
(1) 7E" WG 4t AfgH3T &7 mag ger I (2) #E B 4t ffagt @ wag Jer 3
(3) Aie fey3t A3 Qusay Je 05 (HBUIII /g Tt
97 | From the Mansarovar Lake region come the followinggivers ofilndia
(1) Brahmaputra, Sutlej and Yamuna (2)hBrahmaputra, Indus and Sutlej
(3) Indus, Jhelum and Sutlej (4) Yh&lim, Sutlej and Yamuna
97 | Wand=q ¥1% yen 3 faua efen fsase 76 :
(1) §UHY 3T, ASBH M3 THET (2) gOHY 39, AT M3 AZ®H
(3) iU, A9®H W3 ASEH (4) FIBH, ASSH M3 GHGT
98 | In terms of history which is the propef chronological order
(1) Paleolithic, Megalithic, Microlithic, Neolithic (2) Neolithic, Megalithic, paleolithic, Microlithic
(3) Paleolithic, Neolithic, Microlithie, Megalithic (4) Microlithic, Neolithic, Megalithic, Paleolithic
98 | fefgom € gy few €f93 T@gfHa 3931y faust I -
(1) YIT-U'Hg, HU™-UEd, FuH-UEg, 3<-UEd (2) 3=-UHT , HU™-U'ET, YIT-UEJ, AUH-UEd
(3) YIT-U'ed, S-UHJ , BUH-UHd, HI™-U'Ed (4) FYH-UHd, 5=-UHJ , HI™-U'Hd, YdT-Uad
99 | Making a living'is
(1) A right given 0 us\bysthe government (2) A divine right
(3) A right given to us/by the courts (4) A fundamental right
99 | FEhaB=T:
(1) Haeg =5 g fe 3T mfgarg 9 (2) €<t mifggmg §
(3) mET B =B A fe 3™ mifuaa § (4) ¥& mfaaa §
100 [“ANPC, in the context of the Indian parliament stands for
(1)4eint Parliament Consul (2) Just Parliament Consulting
(3pJoint Parliamentary Committee (4) Joint Parliament Consulting
100/ grost fime € yAer feg JPCE" yas gu at 3 :
(1) Joint Parliament Consulting (2) Just Parliament Consulting
(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
101 | The second urbanization in India is supposed to have happened approximately in the 6™ century BCE.
When did the first urbanization happen, approximately?
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
101 | g93 few gw Afgdtags Bargar 6-<t AEt BCE few 3femr ifamr arer 3 | ufosT afgdtaes sager a<
Jfemr .
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
102 | Part of the complexity in teaching social sciences lies in the fact that their subject is

(1) Ever changing (2) Very complex (3) Non-existent (4) Localised
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102

T fefamrst @ niforys fev fea Afesar fen Safeg T fa gt evfemr I

(1) AET Ufa=a3aHIS (2) mifg Afes (3) mAf33=-dte (4) FETSifEs
103 | Where rice was first domesticated?
(1) Antarctica (2) South Asia (3) America (4) Europe
103 | grew €t am3 ufost fag 13t aret :
(1) Weradafear (2) SUST EHPAT (3) mHdlaT (4)gay
104 | The current Lok Sabha is the
(1) Thirteenth Lok Sabha (2) Fifteenth Lok Sabha
(3) Fourteenth Lok Sabha (4) Sixteenth Lok Sabha
104 | Hgev 8a AgT T :
(1) 3g B AT (2) eg=t B AT (3) 9o FF AT (4) FEEET I
105 | After which Census was it discovered that the population of India is growing/@at a rapid rate
(1) 1921 (2) 1931 (3) 1951 (4) 1901
105 | faast Asdiest 3 g feg u3T Sfen fa 9793 € AsifumT 39 €9 575 =U Jathaft
(1) 1921 (2) 1931 (3) 1951 (4) 1901
106 | The empire of King Harsha was spread over
(1) The area from the southern sea to the northern mountaing™(2) The western sea to the eastern sea
(3) The Ganga Yamuna valley (4)Afghanistan to Assam
106 | grAT gow & AHE'H fa& 3a femr Jfewr A :
(1) Syt A9 3 €3 uoest 39 = fewmar (2) Ul AIe 3° Yast Aae 3T
(3) IO THET Wret 3 (4) WA feAI™S 3 WA 39
107 | The division of the people of India into linguistic provinces'was based on the principle that
(1) Providing administration to people intheir'own language is a good in itself
(2) All of these
(3) Using local languages makeSfor easier administration
(4) Language is an important'bend which unites'people and creates an identity for them
107 | grg3 € Bat €t gHEIYenr' few &3 fer fius 3 wofeg A fa -
(1) Bat & €&t & Myt I feu YIS €< & aH MU wry feg Sar an
(2) feg A ot
(3) mEfsd I € <g8° YATHS & RuT gSTEET I
(4) IH HU SIS 83 J o™ 3d' § Azger d M3 OFT 38 ug'e ge€er J
108 | The Ranjit Sagar dam isilocated near the village
(1) Naldhera (2) Thein (3) Nathpa (4) Jhakri
108 | gE+13 Arae 3 faos filz @ 33 Afez T :
(1) BTBI™ (2) 88 (3) TEUT (4) g7t
109\ The science that deals with the study of the Earth and its lands, features, inhabitants, and phenomena
is.called
(1).Paleontology (2) Geography (3) Biology (4) Sociology
109 Qg fefomis fagsT fyast »3 fen €1 3f€, Bect, Twtit W3 939 € rftns 575 TEfaz I :
(1) vgge -fefamrs  (2) FAB-AHIT (3) Fie-fefarnrs (4) aiH fefarrrs
110 | The Gateway of India, the India Gate and the Teen Murti were built
(1) To welcome George V, to honour the war fatalities of the Indian army, fatalities in the First World
War respectively
(2) To welcome the English King, to welcome the English Viceroy, to welcome the Prince of Wales
respectively
(3) To honour the English Queen Victoria, to celebrate the victory in the First World War and to honour
those slain in the Second World War respectively
(4) none of these
110

g9 T Jiee, & die w3 Jts Yot fam T3 geeE ae
(1) H=ET 7799 V & PaI3 B, 931 AaT &t g U feg Ient M3t € Aens wet, ufod fene gu feu
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Tt 3T BET

(2) THRTT WIGH ITEHT € FATII3 BT, MIH STTEHITTE & IHAI3 BT, T8H € ITHIHT € BHAIS Bet
(3) IHIT WIIH HITST feadedtr € AaHs &et, ufos fere wu feg fAs § oG set iz €5t e
HEHS Bet fAos en fene gu feg Wd o s

(4) Qudars feg' aet & &at

111 | The Buland Darwaza was built to

(1) Celebrate the birth of the heir to the throne of Agra  (2) Commemorate the conquest ofGujarat

(3) Honour the Chishti saints (4) All of the above
111 | g@w wa<ma" faw T HS g=<=TfomT fapir At :

(1) M9 € 343 € =fan & A6H fes Hage Bt (2) e & fA3 & HaBe B

(3) fou3t A3t € AoHS et (4) Budag A9 Tt
112 | The greatest impact on the environment of earth has been from

(1) Atomic blasts (2) Human activity (3) Chemical pollution (4) Solar radiation
112 | fyg<t @ uferr=es Qua A9 3 37 ygre fan ufA€ fagr 7 :

(1) yenre fenee (2) W& ot Irgitfedt (3) gAfesd yeHS (4) pavt fefaas
113 | The Singh Sabha movement was broadly begun in the

(1) eighteenth century (2) twentieth century

(3) nineteenth century (4) twenty first century
113 | firw re™ Bfge He 39 3 g€ Hg 991 :

(1) 18 =t A<t (2) 20 =t At (3) 19 ¥ Het (4) 21 =t At
114 | The first state systems in India were formed in which/region

(1) Kaveri valley (2) Narmada valley (3) Al¥ofithese (4) Ganga-Yamuna doab
114 | gra3g feu ufest ow feener faogaenfeadsrs et

(1) Fr=dt wret (2) SOHET Wt (3) Guda3 A Tt (4) I1aT WHET SmrET
115 | Prasar Bharti is

(1) The Public Service Broadcastenof India (2) An NGO

(3) ATV organisation (4) A radio organisation
115 | ye 993t 3 :

(1) 9793 € &g A& @sH & (3) & & Forss (4) THE€ s
116 | The Supreme Commander of the military in India is

(1) The President (2) The Prime Minister

(3) The Home*Minister (4) The Defence Minister
116 | gra3 f<w A& S FUFH a3 T :

(1) gmeaust (2) Yo H3at (3) grfa H3dt (4) T ¥rzat
117 |sbok Adalatis

(1) All ofthese

(2) A court to settle disputes through compromise or settlements

(3)Ascourt designed to shorten the time taken for settling disputes

(4)A court run by the people
117/ 8 mes3 T :

(1)Ag &5 Gug

(2) IS A faueTd Tdt gaifant T INTT'S d9 BT METs3

(3) gaifantt € faued &et 3T =93 § weSe aet famdls A3t ne a3

(4) Bdt & IBTE ALl MBI
118 | The third planet in the solar system is also called

(1) Venus (2) Mars (3) Earth (4) Neptune
118 | gaa-13® few It 91f & 99 &t mrfumr AieT 3

(1) §a9 (2) FaT® (3) fus=t (4) ==
119 | Feminism refers to

(1) The ideology that women should be treated at par (2) The ideology that women should rule
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(3) The ideology that men should rule (4) That women should be given more opportunities than men

119 | zrdtee fan ss A qaer I ?
(1) feg fegraurer fq #ig3t & gar9d AT IdteT
(2) feg fegraura fa nig3xt & AHE J9aT Irater I
(3) feg fegraurer fa yaut & AHS d9aT Idter I
(4) feg fegrauraT fq yaut 378 @ U »eHd Y5 996 IdiE I&
120 | A teacher has to be adapt at
(1) Acting (2) Learning (3) Communication (4) Playing multiple roles
120 | mfgmryer & fam & mdE Jer odter 3 :
(1) mfgs & (2) fafer —yrust € (3) g9 & (4) sgudt ghiar=r fggE= &
121 | The highest earth filled dam in India is
(1) Ranjit Sagar (2) Bhakra (3) Tehri (4) Hirakud
121 | gra3 few €93 fH-yfeg 3 3 -
(1) I&HZ ATaT (2) FyzT (3) o=t (4) Toes,
122 | Identify the correct time sequence for the following:
(1) Guru Har Krishan, Guru Har Rai, Guru Har Gobind  (2) Guru Angad, Guru HarGobind, Guru Amar Das
(3) Guru Nanak, Guru Angad, Guru Har Gobind (4) allofthese
122 | 3= fafumt € At ANT-gH €t ye'< da:
(1) I1g IafqHa, g 99 Ife, g Jadifie (2) JIGWIATE, JTJ IIIITEE , T MIHE™H
(3) G 575, I HaIE, IF JIIifae @)Eudas A It
123 | The Chief Justice of India is appointed by
(1) The Prime Minister of India (2)The parliament of India
(3) The President of India (4) The Lok Sabha
123 | grgg 3 1% AAfen €t fagast d& aaer J :
(1) 93 € YU's W3t (2) 992 €1 °AAE (3) g9 €T IHSIUST (4) 8 HIT
124 | India is a large country. It covets hoew much area of the earth?
(1) 1.4% (2).4.4% (3) 3.4% (4) 2.4%
124 | gz gz 3T eN T | fem @ wadagfya<t e fasT dgg m@er I
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
125 | Controlling air pollution,is important to ensure that
(1) Crops do nét'suffer (2) Industries get a proper supply of air
(3) we havelclean@irto breathe (4) Animal population does not go down
125 | gg ygHT § d4e% FdsT feu watal g8 ®et Ho'g=yes J fa
(1)), EHST T SIS &7 9= (2) Gedar § =g &t €fes ruzTet a
(3) A8, IS QBT BT g 9= 9= (4) Ug Fifeorr We a7 92
126, The Protection of Civil Rights Act was designed to
(1) Protect the civil rights of individuals  (2) Prescribe punishment for the practice of Untouchability
(3)Protect the civil rights of social groups (4) Protect the civil rights of citizens
126 \amgrfaa »ifgarat €t B afumT rifafsw fam =S f3mg 13T fapr At :
(1) feradt € srarfaa mifuarat & fonfez daaT (2) ge3 ¥ fe=ud Bet nar fanfexs gaat
(3) AT AYTT € &Ta1fdd mfuarat € /a o Jaat (4) ZTaTfgaT & STaTfdd MfgaTaT &t Ha foT Jdat
127 | “Where the mind is without fear” were lines by
(1) Mahatma Gandhi (2) Swami Vivekananda
(3) Gurudev Rabindranath Tagore (4) Sardar Bhagat Singh
127 | fgg A3t faw €t I& : “where the mind is without fear”
(1) HIT3HT Iriat (2) Pt fe=farde (3)Jge< I f¥ed sE Idid  (4) AdEd 9413 fiw
128 | All revenues received by Government by way of taxation Iik; income-tax, central excise, custom, land revenue
(tax revenues) etc. form the
(1) Government of India (2) Contingency Fund of India
(3) Consolidated Fund of India (4) All of these
128

TS AR MrHEST a9, MraaTat, §ait, agraTat »irfe € gy feg AeaTd 28" Yru3 Ardt mmiest 5E7@et 9
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(1) 9793 AIAT (2) 793 T MTIAMHIAIT &5 (3)FOI T AfEI &  (4) Qudaz Ao

129

Which of the following occupies the largest cultivated area in India
(1) Barley and maize  (2) Jowar and bajra (3) Wheat (4) Rice

129

go3 feo g F T aRI T BT UIT fan e muts T :
(1) 7 M3 Hat (2) g MI ITHIT (3) I (4) TS

130

The Fundamental Rights in India are designed to

(1) Ensure rights of human beings

(2) ensure that all Indians can lead their lives in peace and harmony as citizens of India
(3) protect liberty

(4) protect freedom

130

3793 feu ¥ wifaara fan Bet femrels 413 o 95 -

(1) Ha T € wifgarat & watat s &et

(2) feg watat ge8< &t fq A9 993t 993 I SIfddT 0 WUST Hi=Es Aidt MSEand3T 578 9313 a9
A<

(3) Mt € Ha faHT Bet

(4) F3393" €t Ha fn BEt

131

Who took charge as Prime Minister at the death of Jawaharlal Nehru?
(1) Gulzarilal Nanda (2) Morarji Desai (3) Lal'Bahadur Shastri (4) Indira Gandhi

131

<99 &8 &g € fHeg fug’ yurs 3t d= afemr:
(1) IBAET BT e (2) Havg#t ATEL (3) ™% g92d ATHIOT (4) f&ear arut

132

Social Sciences study
(1) Societies (2) Indivduals (3) Governments (4) Philsophies

132

mA-fefarrs mfons g9 a5
(1) AHT™HT &T o )yfasdr e (3) HIdTgT &7 (4) € IHS-H™H3IT &7

133

What is common to Fakir Azizuddin, DiwandVioti Ram and Claude Auguste Court
(1) They were astronomerg,of considerable reputation

(2) They were employed by MaharajaRanjit Singh

(3) They were soldiess'of fortune

(4) All of these

133

719 Mg €16, SlE's HEl,3™ M3 I&'S M dHe dde feg st Ay 3 :
(1) v fermufigt T @ueas-fefamrat As (2) €9 HogHT g3 fiw € FareTat AS
@3) €= < fMudiss (4) Qudazg A9 Tt

134

Project work is important because
(1) [tenables’stirdents to be creative (2) It creates some work for students
(3) Learning by doing is more lasting learning (4) It enables teachers to be creative

134

Jade e oH Ho'I<y9s 3 fag fa -
(1)feT fefenraghnt § T953Hd 96 € War ge8eT J (2) feg fefenraghnt Bet g3 I Ue g9eT &
(3)3n 99 I fiyeT <09 Faret fAfir-yrust & (4) feg mforuat & T9&T3IHT g5 € Har g 8T I

135

The Slave Dynasty consisted of

(1) A single family which had obtained its freedom from slavery

(2) A number of unrelated families whose founder was a slave soldier in service of the king
(3) The slaves of Indian ruler

(4) None of the above

135

o a7 few Afnfea T :

(1) feasT ufgeTa fAR & EH3T 3 FI393™ YU3 i3t At

(2) 993 A9 MAEfuz ufgeTd fam e Het o & Ae a9 faor @ fAutat /it
(3) 93T A & IB™H

(4) Budaz fev aet &t

136

The parliamentary system in India is based on the principle of
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(2) First Past the Post (2) Proportional Representation

(3) Majority vote (4) Popular democracy
136 | grg3 &t Awet yerat faus frais Que morfes 9 :
(1) sgfarest <<t €t 9 yorst (2) migur3q yf3fsuzr
(3) ggfareat =< (4) Bafyn I339
137 | Education of a child takes place
(1) at all three, home, school and society (2) in school (3) in society (49,8t home
137 | g9 <t fafpyr fag et 3 :
Vw3, rgd M3 A f3at feg (2) rmas fea (3) e feg (4) w3
138 | DPI is the acronym for
(1) Director of Prosecution and Intelligence (2) Department of Personnel and\Investigations
(3) Director Private Instruction (4) Director Public Instruction
138 | ppI fam & yaH-#ydt gu 3 :
(1) Director of Prosecution and Intelligence (2) Department of Personhel and Investigations
(3) Director Private Instruction (4) Director Public Instruction
139 | The right to property is
(1) All of these (2) A fundamental right (3) A citizen’s right (4) A legal right
139 | fust e mifgag 3 :
(1) feg mrg & (2) H® mfaag (3) sTarfad enuifaaTa (4) Iéat mfaag
140 | Ashoka’s dhamma was
(1) A principle of good conduct (2)\ Anddeology
(3) A set of ideas propagated by emperor Ashgka (4)/All of these
140 | wiAq e 45 A :
(1) 991 Mrgd< & a3 (2) fex fegraurar
(3R AMaTe &8 YId feggi v Ae (4) Quaa3 Arg &t
141 | Article 370 of the Constitutionicongérns the state of
(1) Himachal Pradesh €%(2) Jharkhand (3) Jammu and Kashmir (4) Tamilnadu
141 | ffegrs e nigee 370 fadahav STEFETTI 3 :
(1) fouras yeu (2) 57388 (3) HH M3 Il (4) 3HBEF
142 | The earth has an axial tilt of 23.4°. This means that
(1) The earth wobbles around its axis
(2) The earth has varied weather during the year
(3) The hemisphieres of earth are exposed to the sun for different times during the year
(4) The learth is a sphere
142 | fyegeht armgH gam™ 23 .4 f3adt T I fer e H3BE T fa -
(1) fyget us naw @ FanErgEt 9 (2) fyg=t e A feg fefgs i ger 9
(3) fys<t € dizog iy feg @4-Ty Afidt ST HeA Mgl Yare e o5 (4) fumst diwr 9
143 | TheRadcliffe line forms the boundary between
(1) India and Pakistan (2) India and China (3) India and Myanmar  (4) India and Afghanistan
143 | Szafse dyr fagt fegara v fanfeas aeet T :
(1) 93 M3 UfaAz™s  (2) 93 M3 I (3) TSI M3 HATHG  (4) T93 M3 MSITSHI™S
144 | Teaching techniques in the social sciences could involve
(1) Role Playing (2) All of these (3) Projects (4) Lectures
144 | pya-fefamrs few rfonus Iastat feg Arig d9aT Iter 3 :
(1) ghrer fsgr@er (2) Qudsa A (3) §rae (4) B9
145 | Saffron is produced in India in
(1) Assam (2) Bengal (3) Gujarat (4) Jammu and Kashmir
145 | grgg feg ang e @3ures fag der 3 :
(1) mmd (2) HIr® (3) IATS (4) 7Y M3 Tt
146 | What was common to the following scholars from Ancient India: Apastamba, Baudhayana , Katyayana,
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Manava, Panini, Pingala, Yajnavalkya
(1) They were astronomers (2) They were grammarians
(3) They were poets (4) They were mathematicians

146

yrdts 9793 € 36 fou feeest feu faust ars Aist At -
(1) 8T yIis-fefarrst s (2) €0 femagas-rA3dtAs (3) 80 a=st s (4) 87 afe3-AmA3diAs:

147

The difference between a primary and secondary source is that

(1) A primary source is primary while a secondary source is secondary

(2) A secondary source is closest to the person, information, period, or idea being studied
(3) A primary source is closest to the person, information, period, or idea being studied
(4) All of these

147

yrafia w3 Ae 73 feg wizgg fea 9 fa -

(1) yaia A3 yrafva § »3 diec AZ die d

(2) dic A3 miftis A3 77 39 fenat, gesT, I5 7 fegg € fsaear Jer @
(3) yrafia A3 miftis 13 77 39 fenast, gosT, % 7 fegrd e fageay Jeng
(4) fegAg It

148

The strength of the Mughal imperial system lay in
(1) Its harsh laws (2) The mansabdari system
(3) Its ability to be paternalistic (4) The coeperatiomextended to it by other Indian rulers

148

HIT® AHETHT Y& & Hagst faw feg At :
(1) fen € 59 I45 (2 HeHgeIdt Ve
(3) fu'gdteret d= <t fen &t Garzr (4YfeR'S e gast Arat =8 fe 3T Afadar

149

Class room teaching should be
(1) Intense (2) One sided (3) Interactive (4) Easy

149

IBTHIH mftTus 9=
(1) =g (2) feg-ums, (3) ygAUg fgmmana (4) MA™S

150

The revolt of 1857 was also called the sepoysmutiny and the first war of independence. What was the
importance of these different names for the same set of events?

(1) To identify the main actors in thesefevents

(2) To measure the degree of anticolonialism in the Indian people

(3) To understand thedifferent outcomes that resulted.

(4) An act of selfspublicityyon the part of those who gave these names

150

1857 © feego & AUt € gare3 W3 g3393T v ufasT U <t wirfir wier 3 | fed fami et
wesT=t e AHT @t fagt fefds a=t er ot Ho = At :

@), feat wease fe@F Hy-H3a9T &t farsedt dasT

(2) FEINBeifeg gAFt=e-fegy <t vr3ar 37 forrg sarger

(3) fer @ faas fefgs fafen & st

(4) €57 fonadtnt =8 AE-ye'd &t araerl fast & feo 57 fe3
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